L’ Arrondissement (I)

70 820

10 045

58771

679 409

743 994

6412478

8026 500

8532814

41 195

27776

46 570

205 826

173 196

3855415

8451598

7026951

79214

81370

583402

269579

155322

1363553

7618305

91332151

Arrondissez chaque nombre ci-dessous a la dizaine de mille pres.

23234

73 104

158 045

937712

912 009

2939179

6209 653

77523792
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L’ Arrondissement (I) Solutions

70 820
70 000

10 045
10000

58771
60 000

679 409
680 000

743 994
740 000

6412478
6410 000

8026 500
8 030 000

8532814
8 530 000

Arrondissez chaque nombre ci-dessous a la dizaine de mille pres.

41195 79214 23234
40 000 80000 20000
27776 81370 73104
30000 80000 70 000
46 570 583402 158 045
50000 580000 160 000
205 826 269 579 937712
210000 270000 940 000
173 196 155 322 912 009
170 000 160 000 910000
3855415 1363 553 2939179
3860 000 1360 000 2 940 000
8451598 7618305 6209 653
8450000 7620000 6210000
7026951 91332151 77523792
7030 000 91330000 77520 000
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